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A. Adaptive Apply 
B. Summarization 
C. Consolidation ?One-to-One 
D. Consolidation ?One-to-Many  
 
 
Answer: B 
 
 
QUESTION: 44 
Which of the following will be a valid SOURCE for "InfoSphere Change Data Capture 
for Oracle Replication"? 
 
 
A. Oracle database running on any supported platform 
B. Oracle database running on Windows platform only 
C. Any heterogeneous data source running on any supported hardware platform 
D. Any heterogeneous data source running on Windows platform  
 
 
Answer: A 
 
 
QUESTION: 45 
A subscription is 'Parked' if__________  
 
 
A. the subscription has finished executing a cycle 
B. the subscription has finished the initial refresh and is waiting for new changes 
C. the subscription has been copied/promoted/imported or renamed 
D. the subscription has been deactivated  
 
 
Answer: D 
 
 
QUESTION: 46 
Which of the following products is capable of replicating data from supported data 
sources to DB2 on z/OS? 
 
 
A. InfoSphere Replication Server for Linux for z Series 
B. InfoSphere Classic Replication Server for z/OS 
C. InfoSphere Change Data Capture (CDC) for z/OS 
D. All of the above.  



Answer: D 

QUESTION: 47 
What happens when a new CDC subscription is created while database logging is turned 
off at the source? 

A. The CDC instance cannot be connected
B. The datastore cannot be created or connected
C. The subscription that uses the source datastore cannot be created
D. When the subscription is started using the Management Console, the replication will
not succeed.

Answer: D 

QUESTION: 48 
Which of the following statements about CDC instances is FALSE? 

A. CDC instances are created using the CDC Configuration Tool.
B. CDC instances require unique TCPIP port numbers.
C. A single CDC instance can be set up to access multiple data sources.
D. Multiple CDC instances can be set up to access a single data source.

Answer: C 

QUESTION: 49 
Which one of the following CDC capabilities is NOT promised to IBM customers? 

A. guaranteed data integrity
B. zero latency
C. dynamic change data integration
D. near real-time data synchronization

Answer: B 



QUESTION: 50 
A customer needs a solution to replicate changes made to their inventory database that 
gets updated once a night in a batch processing environment. Can CDC perform this 
task? 

A. CDC is best suited for OLTP environments only.
B. CDC is best suited for OLAP environments only.
C. CDC is best suited for Batch Processing environments.
D. CDC can be used in all environments as long as logging is NOT turned off.

Answer: D 

QUESTION: 51 
Which of the following statements about CDC Datastores is FALSE? 

A. You need to assign a user to the datastore before it can be used.
B. Multiple datastores can access a single CDC instance.
C. A single datastore can access multiple CDC instances.
D. Multiple CDC users can access a single datastore.

Answer: C 
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